-101

927

2
1 OF
X.01 [SHEET

[REV. X.

USA)

A
E
+/ MADE INTHI

76”

m“
N
=
o <
g :
2 =
lul nl
ll“llll 5
>< llll
> lnll :
>< =
= >
- =223
= 3= :
> = lll
>< llll
= 5 =
> z :
>< : H -
ll“ﬂ “ Hﬁ Hl ““H
-— > 3 =
>< : - Hl
llﬁlll l l-
Hlllll llllu
llllll llll-
llll Hllﬁ-
llﬁl > lﬁll
Hlll llﬁl ll
T llﬁlll |
llllﬁlllll lﬁ-
llﬁllllll lﬁll-
Hllllll = lln
lllll == - -
P lllll -
< lllllll -
lllllllﬁl -
llllllﬁll -
llllﬁll
llﬁll e
Hlll =
T lﬁlll
llllﬁlll
llﬁlll :
Hllll =
llll =
lul :
H““
=

0
L
-
1)
>
-
2
U
2
0

The Best Co ercial Outdoor Furniture Available. Period.
m
m
S




In  Accordance

California

to California
to cause cancer

Wil
AN

R

7 Z7o]
L Uh\

A2
(1

NS
/>

law: WARNINGThis product contains a chemical
and birth  defects or other reproductive harm.

known to

927-101

the State of

1. With table top upside down bolt 2 opposing legs on to top. Do not tighten the bolts now.
2. Attach “x” shaped leg brace to the 2 legs.
3. Attach the other 6 legs fastening to the “x” shaped leg brace as you go.
4. Attach seats to other end of leg. The vertical portion of the angle iron leg top bolts flush with
the seat support bar.
5. Flip the table right side up, level the top and seats, and tighten all of the bolts.

ITEM NO. | PART NUMBER DESCRIPTION QTY.

1 642-115 4x5 Accessible table Top 1

2 634-111 Sq./Rnd Table Free Standing Leg 6
3 634-112 3 Seat Leg for Sg/Round Table 2
4 622-019 40" Champion Seat 3
5 634-119 Sq./Rnd Table Leg Support Bracket 1

6 516-058 3/8"x1-1/2" SS Hex Bolt 28
7 516-023 3/8"SS Flat Washer 56
8 516-028 3/8" SS Nylock Nut 28

PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

PROUDLY
MADE INTHE

[REV. X.01 [SHEET 2 OF 2



Cari
Typewritten Text
In Accordance to California law: WARNING This product contains a chemical known to the State of California to cause cancer and birth defects or other reproductive harm.


@ 4'x 5" Accessible Table Single Pedestal Direct Bury 927-108
— 5‘ —
< = L S —>< >< > < =>< =
1
SSeso=os = >=DsDs >
4!
< >< >< >< >< > <=
< >< >< >< >< >< P Ib< >
ITEM NO. PART NUMBER DESCRIPTION QTY.
1 642-115 4'x 5' Accessible Table Top 1
2 632-102 Table Top Support 1
3 632-101 6" Pedestal DB 1
4 632-105 Seat Arm (1 Ped) Offset Plate 1
5 632-104 Seat support 3
6 622-019 Champion 40" Seat (QS) 3
7 516-058 3/8"x1-1/2" SS Hex Bolt 16
8 516-054 3/8"x2" SS Hex Head Bolt 16
9 516-023 3/8"SS Flat Washer 64
10 516-027 1/2" SS Flat Washer 16
11 516-028 3/8" SS Nylock Nut 32
12 632-103 Seat Arm (1 Ped ) 2
13 516-073 1/2" X 8" SS NC Hex Bolt 4
14 516-051 1/2" X 9" SS NC Hex Bolt 4
16 516-036 1/2" SS NyLock Nut 8

PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 1 OF 2




In

? 4'x 5" Accessible Table Single Pedestal Direct Bury 927-108

P

X9
|“\vE%‘l—u
Ground Level—\‘ @\o g @ J

Tools List 30"
. 7/16" Drill bit

. 9/16" Socket

J 9/16" Wrench

. 3/4" Wrench

o 1/2" Drill bit —— " =

. Imapct Gun (Optional) "
. Dl — 17

1.  Bore a 12-14" diameter hole into the ground. The hole should be at least 32" deep or below
the frost line in your area, which ever is greater.

Place 4-6" of pearockin hole.

Place center pedestal post into the hole.

Drill out all holes with a 7/16" drill bit. Use a 1/2" drill bit for seat arm end plate holes and center
pedestal post holes at their union.

Bolt support arms #12 on to the center pedestal post using 1/2"x9" stainless steel hex bolfs.
Bolt support arm #4 on to the center pedestal post using 1/2"x8" stainless steel hex bolts.

Bolt seat supports on to the seat arms using 3/8"x2" stainless steel hex bolts.

Bolt table top support on to the center pedestal post using 3/8"x2" stainless steel hex bolts.
Bolt the table top on to the table top support using 3/8"x1-1/2" stainless steel hex bolts.

0. Bolt the seats on to the seat supports using 3/8"x1-1/2" stainless steel hex bolts.

1. Level table and adjust to desired height. Recommended height is 20" from the ground to the
tfop of the seafs.

12.  Fill hole with concrete no higher than ground level.

A

»w

TS0 Noe O

Periodic check of bolts tightness reccommended
accordance to California law: WARNING- This product contains a chemical known to the

State of California to cause cancer and birth defects or other reproductive harm.

=
i~
m

>

PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 2 OF 2



cari
Typewritten Text
In accordance to California law: WARNING - This product contains a chemical known to the State of California to cause cancer and birth defects or other reproductive harm.


927-1P8

Accessible Perforated Single Pedestal Direct Bury Table

i’ 4' X5

00000000 PO0000QOOOEOO000000000000
000000000000 QPOO0000QPOO0OO00DOOO000O0
O00000000O0OO0O00O000606066066600000000
O00000000O0OO0O00O000606066066600000000
Q000000000 QPOO00QPOO0O00DOOO00000
CQ0POO0000COCLOCOO0000000000000,

1

00000000000000000000000000000000000000000000
00 00000000000000000000000000000000000000000 ©
0000 0000000000000000000000000000000000000 0O
000000 0000000000000000000000000000000000 00O
000000000 0000000000000000000000000000000 0OOOO
00000000000 ©0000000000000000000000000000 ©0OOOOO
0000000000000 0©0000000000000000000000000 O0OOOOOO

000000000000000

00000000000000000
00000000000000000
00000000000000000
00000000000000000
00000000000000000
00000000000000000

000000000000000000000 0000000
0000000000000000000000000000
0000000000000000000000000000
©0000000000C0C0C0C0C00000200000000
©0000000C0C0C0C0C0C0C0C0C0C0CO0CQ00000000
0000000000000000000000000000
0000000000000000000000000000

00000000000000000 0©000000000000000000000000000O0
00000000000000000 000000000000 0000000000000000
00000000000000000 0©000000000000000000000000000O0
000000000000000O0O0 OOOOOOOOOAVOOOOOOOOOOOOOOOOO
00000000000000000 0©OOOOOOOOO 000000000000 0O0O0OO0OO
00000000000000000 0©000000000000000000000000000O0
00000000000000000 0©000000000©008000000000000000O0
00000000000000000 0©0000000000000000000000000000
00000000000000000 0©0000000000000000000000000000
00000000000000000 0©0000000000000000000000000000
0000000000000 0000 ©060600060000060600606006060606060800000000
0000000000000 0000 ©00000000000000000068900000000
00000000000000000 0©0000000000000000000000000000
00000000000000000 0©0000000000000000000000000000
000000000000000 000000000000000000000 0000000
0000000000000 0©0000000000000000000000000 ©0OOOOOO
00000000000 ©0000000000000000000000000000 ©0OOOOO
000000000 0000000000000000000000000000000 0OOO
000000 0000000000000000000000000000000000 00O
0000 0000000000000000000000000000000000000 00O
00 00000000000000000000000000000000000000000 ©
00000000000000000000000000000000000000000000

0000000000000000QO000H®O®00000000
000000000000 DO0O00ODO0OO00O00000000
O0000000000606060606060606666606000000000
O0000000000606060606060606666606000000000
000000000000 DO0O00Q@DO0OO00O00000000
O000000000000000006000®O®0000000Q,

0000000000000000Q000Q000B®B@®0O0
0000000000000PO000ODPMO0O0O0O00O00O0000O0
0000000000 OOOOOOHOLOHOH86000000000
0000000000 OOOOOOHOLOHOH86000000000
0000000000000 OO000GOMO0O0O0O000000000
O00000000000060066060000000000000,

Tools List

7/16" Drill bit
?/16" Socket

9/16" Wrench

Level

Imapct Gun (Optional)

Dirill

2| —|—|— e | <t[22]0| oo [ F < S | [ev
O
O
pm =
orCO..II
w125 =0/2| 22125
Z|a|5R | 9| ol 5l el a2 | et
OldOTBe%OONpr
=021 5| x| L2 IR %9122
o |00 9 %2 OO o
~| Ol=ol» |T| 0|55 T[> al2
O|9| c[@ s TN |xwZ o2
Sem%MSSUSSSSTO
WA Z10| R0 |99 120
Ol | S 8IS 2zl R [B |5
<=0 |0 x| x|tv|o =
O3 |0 |Xo >IN Q/u_m
eSmQ8/13
SVA .|/3
4m ™
@)
(a4
Ll
L — oo fon | —| <t ool o] < oo oy [
Slolohl |m N wbB|N|NO N O o
27177 RILURPRRLCRIT T
N&&Qﬂéééééééww
2130|080 [0 |1 |n| 1| |b|b o RO o
<
a
o
M123456789WHQB
Ll
=

g
2
[
[}
o
g
a
o
T
>
q
o
L
3
b=
c
[
3
B
3
[}
0
T
it}
3
8]
[
0
c
Q
£
£
0
o
»
[0}
[}
o
Q
£
=

[REV. X.01 [SHEET 1 OF 3




@ 4' X &' Accessible Perforated Single Pedestal Direct Bury Table 927-1P8

2

[ |
Olina o jO
L1 [ ] LT T 1
_/" | \ J
30” ") 1
20"
00
O ®\\ | + fGROUND LEVEL
9795777
o, —2
30" 7
6 =
— - 12" |
1. Bore a 12-14" diameter hole into the ground. The hole should be at least 32" deep or

below the frost line in your area, which ever is greater.

2. Place 4-6" of pea rockin hole.
3. Place center pedestal post into the hole.
4, Drill out all holes with a 7/16" drill bit. Use a 9/16" drill bit for seat arm end plate holes and

center pedestal post holes at their union.

5. Bolt the support arms on to the center pedestal post using 1/2"xé" stainless steel hex
bolfs.

6. Bolt seat supports on to the seat arms using 3/8"x2" stainless steel hex bolts.

7. Bolt table top support on to the center pedestal post using 3/8"x2" stainless steel hex
bolfs.

8. Bolt the table top on to the table top support using 3/8"x1-1/2" stainless steel hex bolfs.

9. Bolt the seats on to the seat supports using 3/8"x1-1/2" stainless steel hex bolts.

10. Level table and adjust to desired height. Recommended height is 20" from the ground
to the top of the seats.

11. Fill hole with concrete no higher than ground level.

Periodic check of bolts tightness reccommended

w 7 PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

=
i~
m

>

[REV. X.01 [SHEET 2 OF 3




927-1P8
known to the

harm.

a chemical
reproductive

contains
other

or

defects

This  product

and birth

0000000000000 000000
90000000000000 00000
0000000000000 0000
000000000000000 000
000000000000000 00
0 0000000000000000 O

000000000600000000

law: WARNING-
to cause cancer
The Best Commercial Outdoor Furniture Available. Period.

to Calitornia

of California

Accessible Perforated Single Pedestal Direct Bury Table

In accordance

State

@ 4 X35

w|

<

Iz

[REV. X.01 [SHEET 3 OF 3



cari
Typewritten Text
In accordance to California law: WARNING - This product contains a chemical known to the State of California to cause cancer and birth defects or other reproductive harm.


8' Champion Expanded Metal Accessible Free Standing Picnic Table  950.-501

VAANA

L >< >< >< >< S<I < >< >< >< B > > > > > S ST >
< =< >< >< >< S >< >< >< > > > S>< > < >< >< S<T

L >< >< >< >< SR >< >< >< B S>< S>< S > > S ST > < >< >< >< >
< =< >< >< >< ST >< >< >< > > > S>< > < >< >< S<[x=< >< >< S>< S< =

3 2(:) - T @ @ \1\@

ITEM NO. PART NUMBER DESCRIPTION QTY.

1 642-A15 8' Champion Access Table Top 1

2 634-010 Free Standing Table Stand For Seats 2
3 516-058 3/8"x1-1/2" SS Hex Bolt 12
4 516-023 3/8" SS Flat Washer 24
5 516-028 3/8" SS Nylock Nut 12
6 634-013A TABLE BRACE 2
7 622-013 6' Champion Seat/Back (QS) 2

PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

=
i~
m

>

[REV. X.01 [SHEET 1 OF 3




Expanded Metal Accessible Free Standing Picnic Table  950.-501

1on

8 Champ

Period.

The Best Commercial Outdoor Furniture Available.

[REV. X.01 [SHEET 2 OF 3




8' Champion Expanded Metal Accessible Free Standing Picnic Table  950.-501

DETAIL A DETAIL B
SCALE1:6 SCALE1:6

Drill out holes.

Attach both stands to the inside of table support bar. (See diagram above)

Attach the seats to the stands.

Attach the straight end of each brace to the table. (See diagram above)

Attach bent end of both braces to the cross bar of each stand. (See diagram above)

A

Tools List

. 7/16" Drill bit

. 9/16" Socket

J 9/16" Wrench

J 7/32" Allen Wrench

e Drill
Periodic check of bolfs fightness reccommended
In accordance to Calitornia law: WARNING- This product contains a chemical known to the State of
California to cause cancer and birth defects or other reproductive harm.

3 PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 3 OF 3



cari
Typewritten Text

cari
Typewritten Text
In accordance to California law: WARNING - This product contains a chemical known to the State of California to cause cancer and birth defects or other reproductive harm.


@ 950-502

— \
te 72 12 2 Q 2
3 3
x x - g
293 ] O] \ \
19
b B 4 4 57 4: 4
1
524
Part No. Description Qty.
642-A15 Champion Accessible Table Top 1
8’
622-013 Champion Seat/Back 6’ 2
632-200 Table Pedestal Direct Bury 2
516-058 3/8” X 1-1/2” SS Hex Bolt 12
516-028 3/8” SS Nylock Nut 12
516-023 3/8” SS Flat Washer 24
1 Drill 2 holes in ground per the above drawing.
2 Place the pedestals in the holes.
3 Drill plastic out of the mounting holes on the pedestals, top and seats using a 7/16” dia. drill bit.
4  Fasten the table top to the pedestals, support and level table top. Check height.
5 Fasten the seats to the pedestals, support and level seats. Check height.
6  When the seats and top are level and secured fill the holes with concrete to about 2 below

ground level.

In Accordance to California law: WARNING This product contains a chemical known to the State of California to cause cancer and birth defects or
other reproductive harm.

Periodic check of bolt tightness recommended.

3 PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.



Cari
Typewritten Text
In Accordance to California law: WARNING This product contains a chemical known to the State of California to cause cancer and birth defects or other reproductive harm.


@ 8' Accessible Multi-Pedestal Surface Mount 950-505

10"

62 1/2" = 30"

> — 6 1/4"

B 94" |
| |
[ [

7 1

T 17 [ 1

?

1. Drill plastic out of the mounting holes on the pedestals, top and seats using a 7/16” dia. drill bit.

2. Fasten the table top and seats to the pedestals, installing the pedestal on the inside of the table
and seat mounting bar.
3. Position the table and seats and anchor them to the floor.

[REV. X.01 [SHEET 1 OF 2




8' Accessible Multi-Pedestal Surface Mount 950-505

In Accordance to California  law: WARNINGThis product contains a chemical known to the State of
California  to cause cancer and birth defects or other reproductive  harm.
ITEM NO. | PART NUMBER DESCRIPTION QTY.
| 642-A15 8' Accessible Table Top Expanded 1
2 622-013 Champion Seat/Back 6' 2
3 633-131 Table Pedestal Stand (Surface Mount) 2
4 633-141 Seat Pedestal Stand (Surface Mount) 4
5 516-058 3/8"x1-1/2" SS Hex Bolt 12
6 516-028 3/8" SS Nylock Nut 12
7 516-023 3/8" SS Flat Washer 24

PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 2 OF 2



Cari
Typewritten Text
In Accordance to California law: WARNING This product contains a chemical known to the State of California to cause cancer and birth defects or other reproductive harm.


? 8' Champion Accessible Table, Free Standing 950-507
6
10"
2
30"
10"
L1 + + [ ]
11 1
30 T O @
T @ &~
! n n
ITEM NO. PART NUMBER DESCRIPTION QTY.
1 642-A15 8' Champion Access Table Top 1
2 632-300 Two Pedestal Surface Mount Stand 2
3 516-058 3/8"x1-1/2" SS Hex Bolt 12
4 516-023 3/8" SS Flat Washer 24
5 516-028 3/8" SS Nylock Nut 12
6 622-013 6' Champion Seat/Back (QS) 2

60 PREMIER POLYSTEEL

sy T

“arpp The Best Commercial Outdoor Furniture Available. Period.

*
* X
%/ PROUDLY

[REV. X.01 [SHEET 1 OF 2




Tools List

aorLDN

8' Champion Accessible Table, Free Standing 950-507

7/16" Drill bit
9/16" Socket
9/16" Wrench

Level

Imapct Gun (Optional)
Drill

Drill plastic out of the mounting holes on the stands, seats and table using a
7/16" diameter drill bit.

Attach the seats and table to the stands with fixings provided and tighten up.
Stand the table in its final location and mark out base holes.

Move the table to a safe place and drill holes.

Place the table back, level and secure down using appropriate fixings for the
ground material.

Periodic check of bolts tightness reccommended

In accordance to California law: WARNING- This product contains a chemical known to the State of
California

to cause cancer and birth defects or other reproductive harm.

=
i~
m

>

PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 2 OF 2



cari
Typewritten Text
In accordance to California law: WARNING - This product contains a chemical known to the State of California to cause cancer and birth defects or other reproductive harm.


? 8' Champion Accessible Perforated Metal Table, Free Standing 950-5P1

30" 621/2"

=
i~
m

>

[REV. X.01 [SHEET 1 OF 2




@ 8' Champion Accessible Perforated Metal Table, Free Standing 950-5P1

Assembly Instructions

Drill out holes.

Attach both legs to the inside of table support bar. (See view above)

Attach the seats to the legs.

Attach the straight end of each brace to the table. (See view above)

Attach bent end of both braces to the cross bar of each leg. (See view above)

abhwh=

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 642-AP5 8' Champion Accessible Table Top 1
2 622-P13 6' Champion Perf Seat/Back 2
3 634-010 FS Table Stand (10" Seats) 2
4 634-013A Table Brace W/Umbrella 2
5 516-058 3/8"'x1-1/2" SS Hex Bolt 14
6 516-023 3/8" SS Flat Washer 28
7 516-028 3/8" SS Nylock Nut 14
In Accordance to California law: WARNINGThis product contains a chemical known to the State of
California to cause cancer and birth defects or other reproductive harm.

SIZE

(Al [Rev. X.01 [SHEET 2 OF 2



Cari
Typewritten Text
In Accordance to California law: WARNING This product contains a chemical known to the State of California to cause cancer and birth defects or other reproductive harm.


	927_Access
	927-101
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3

	Sheet2
	Drawing View4


	927-108
	Sheet1
	Drawing View1

	Sheet2
	Drawing View4


	927-1P8
	Sheet1
	Drawing View4

	Sheet2
	Drawing View5

	Sheet3
	Drawing View6



	950_Access
	950-501
	Sheet1
	Drawing View1
	Drawing View2

	Sheet2
	Drawing View3
	Drawing View4

	Sheet3
	Detail View A (1 : 6)
	Detail View B (1 : 6)


	950-502
	950-505
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3

	Sheet2
	Drawing View5


	950-507
	Sheet1
	Drawing View1
	Drawing View2

	Sheet2
	Drawing View3


	950-5P1
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3

	Sheet2
	Drawing View4






